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2 4 The Dual LP Problem

GeneralgoalWritetheobjectivefat in termsofthecapacities b Thiscouldtellus
abouthow the profitchangeswhenthe capacitieschange

Weconsideranotherexample
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Westartby computingtheoptimal solution viathesimplexmethod

wealreadyhave abasinfeasiblesolutiontostartfrom
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Constraints111 and131 hold withequality no slack S 0,5 0 These are

thebindingconstraints

Constraints 2 and4 are non
binding



knowingthebindingconstraints we canwrite our solution inthefollowingway
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Since I is now a square un matrixwithfullrank it canbeinverted x A 5
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Note For 2 2matricestheformula fortheinverseis I ad be Id
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NexttimeWhat if capacitiesare changedby a smallamount


